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S &0 50,394,636 48,959, 189 1,435,447
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< 43,257,591 42,764,490 493,101
SHE Mo, 25 - 0HAE 2et 50,358,066 48,922,619 1,435,447
= 4,007,242 3,952,242 55,000
J| 3,129,803 2,242,457 887,346
S 43,221,021 42,727,920 493,101
oAt ES 12,430,094 10,975,000 1,455,094
= 660,742 585,742 75,000
J| 2,886,803 1,999,457 887,346
£ 8,882,549 8,389,801 492,748
ANEZ03¥E T 707,610 696,050 11,560
403 A X EHHS =0l A 705,310 693,750 11,560
01 AXSHMA2E = 705,310 693,750 11,560
OAZ3H S3HH 172,200 165,000 7,200
©1F THHH DJIBFAIE XI& 54,360 50,000 4,360
DAHXITHA OFF M A 596,000 384,000 212,000
207 O] 20,000 0 20,000
01 2332 9H| 20,000 0 20,000
ONHIE EL=3 A2 ESH 20,000 0 20,000
308 MtXIEHMSOIH 576,000 384,000 192,000
01 HXHHZBAEES 576,000 384,000 192,000
OIDHXITHA OFF M A 576,000 384,000 192,000
st Ma - 7S 1,008,200 1,002,200 6,000
403 AXIHHSXH=0lA 1,005,900 999,900 6,000
01 AR SHHA =22 = 1,005,900 999,900 6,000
Ot F¥H M 326,000 320,000 6,000
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403 A XM S =0l A 257,730 237,000 20,730
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403 A X EHS K= 0l A 136,500 85,500 51,000
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< 16,493 3,402 13,091
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J| 82,467 17,011 65,456
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= 90,000 15,000 75,000
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B+ ADET =Ha(2D) 33,800 46,800 A 13,000

b 26,000 36,000 ~10,000
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01 AXISHHA=2E = 58,240 112,240 A 54,000

O=zzZCt #2453 58,240 48,240 10,000

OAnlE 2FEE AMWE X2 0 64,000 A 64,000

a2 Chest 693,000 645,000 48,000

307 21201 & 218,000 170,000 48,000

04 QIZFHALAIH 2 & 218,000 170,000 48,000

ORsSAAY Ctst 218,000 170,000 48,000

MRARSIIBEY 939,053 818,300 120,753

403 AXEHHS =0l A 936,503 815,750 120,753
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OUXN=SALE 22 47,750 32,750 15,000
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01 AR SHHA =22 = 388,500 354,900 33,600
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Stugs 2esdtE 3 29,839,781 29,991,781 A 152,000

= 505,000 525,000 A20,000

=) 29,334,781 29,466,781 A 132,000

XXM Mg =s(=31) 78,000 300,000 A 222,000

= 60,000 150,000 A 90,000

& 18,000 160,000 A 132,000

307 21201 & 0 300,000 A 300,000

= 0 160,000 A 150,000

< 0 150,000 A 150,000

02 HAHFHANGEEX 0 300,000 A 300,000

OXXTH AMsns 0 300,000 300,000

= 0 150,000 A 150,000

< 0 150,000 A 150,000
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308 X EHSOIA 78,000 0 78,000
= 60,000 0 60,000

& 18,000 0 18,000

01 HIXNHHBHNEELES 78,000 0 78,000
OXTHH AMsns 78,000 0 78,000

= 60,000 0 60,000

< 18,000 0 18,000

II=XIM AMENs A (=10) 70,000 0 70,000
= 70,000 0 70,000

308 XtXIEHH SOl A 70,000 0 70,000
= 70,000 0 70,000

01 AXHHBISEES 70,000 0 70,000
OJIEZXXH AME&w= 70,000 0 70,000

= 70,000 0 70,000




